N = 0l & At & M A

20138 S0& =EIATSEIH XA
AN ARSI Y
Hu: oz A4 Q 29
thel: =AY SEIH 2L (FHMASESH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
A= 780,196 795,016 A 14,820
= 24 ¥ 2H 780,196 795,016 A 14,820
SOFEANY SEHEIH 2G(FHALSESAH) 780,196 795,016 A 14,820
SRt Rl 231,434 252,839 A 21,405
101 @124l 20,390 19,790 600
03 RIAHAZZ2HE > 20,390 19,790 600
OFEAILELESAH NS H=== H=Fel &
£ 20,390
—Jlas 39,6603 x1H 253 10,034
—&JI250t4t3 39,6603 » 1% 2532 »10% 1,004
— &0z 10,033,980% & *4/12 3,345
— Sl 80,0003 *1H 128 960
— T4 39,6603 «1H 52 2,063
—Qlx=g 39,6603 x1H «x5 199
— A2teI g 7,4363 *20Al 2t 1H + 128 1,785
—Ws2xdl 50,000 1 128 600
— HES0td| 200,000& x 1 +23] 400
201 Let24d] 108,674 108,170 504
01 At 221 51,442 50,942 500
O+t 50,602
— S ZIMGN BeasH L JIE
EneS 4,500, 000& =10 Al CH 45,000
— 02240 EE ==
250,000 =70 A 204 7| 2 3,500
—diold Z2lye EU4 237,000 *1CH 63 1,422
— ZEH =4t 50,0003 «1CH *43] 200
— SAEX 20,0003 x22t A %128 480
O= &l 840
—ZFEAMEZ Fol ¥ FINEA 2
EZ2s=4 7,000 «2H 52«12 840
02 =224l 57,232 57,228 4
032323 % HAl 5,464
— =0 HIOIOIHIIE 2 &DF SITHEEZ(2
8AMICH,8I1 4 ) 300,000 » 14! 300
—HIJIHEN Z2HE= 2 LHESY SII=R
H= 1,7703 =40 M| CH 43 284
—HIJIHEN Z2HE= 2 LHESY SII8
5= 2,000& 100 200
— HIOIMXIOHIHE Ol224 HIIR=s
40,000& x 123l 480
— HII2X0HIHE Q224 HIIRs
50,000& *70 2 123 4,200




2N

21
Hu: oz A4 Q 29
ol ROIFSAY SHIH Y (FLALSHIN) CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
O=oi=eg ZIAMLR 22 2e3
3,000,000 =13 Al CH 39,000
ORIz HIHYN 48 2R
96,0002 13 Al CH 1,248
OA&Z&H KX 11,520
— Ul ,2XI0tTHE DI At AlE KAl
120,000 8 &~ x12& 11,520
202 044 7,349 6,606 743
01 2L I 7,349 6,606 743
FEHASIZ ADIME XN E82SdH 22U o]
20,000& *x3H x83| x12& 5,760
OFeiasiza AIMHEN 825 22 0]
264,800& x2H x33| 1,589
311 X 20| AHAH & 1,066 4,800 N3,734
06 JIEFXFR 20| Xp A&t 1,066 4,800 N3,734
O=201zxed EX= Ol Xt A&t 1,066
— HIOHX} 103 LUOIIE HE X2 s8it
= 0| A & &t 20,500, 000& *x5.2% 1,066
401 AIEHIZL 201 Y| 56,000 56,000 0
01 Al&H| 56,000 56,000 0
OHB|IOH ,2XI0LTIIE 012Y AHDF B
8,000,000 *7 0 & 56,000
601 XL 2 S &a& 20,500 34,200 A 13,700
06 JIEIZ XL 2S4S 20,500 34,200 A 13,700
O=pxe SN2 &H A3 48 20,500
— HIIHX 103 2 UOotIE HE X2 84
= & 23 At 20,500,000 20,500
802 Bt&t=D| Ef 17,455 23,273 N5,818
03 =S 17,455 23,273 N5,818
OHIIM X LCHOIHIHE H %2 Btst
5,818,070 3 Al CH 17,455
ol g1 4] 548,762 542 177 6,585
801 ollgldl 548,762 542 177 6,585
01 ol bl gl 548,762 542 177 6,585
OBl gl 548,762,000 548,762




